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Please read and follow the instructions on the OMR Answer Sheet for marking the responses and the
required data.

2. Thecandidate should ensure that the bookl et code printed on OMR sheet and question paper booklet code
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(1-200), (iii) The number of pages and (iv) Correct Printing. In case of any defect, please report to
the invigilator and ask for replacement of booklet with same code within five minutes from the
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4. Electronic gadgetslike Cell Phone, Pager, Calculator, watches and Mathematical/L og Tablesare not permitted
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5. Darken the appropriate circles of 1, 2, 3, or 4 in the OMR sheet corresponding to correct or the most
appropriate answer to the concerned question number in the sheet. Darkening of more than one circle
against any question automatically getsinvalidated.

6. Rough work should be done only in the space provided in the Question Paper Booklet.

7. Returnthe OMR Answer Sheet and Question paper booklet to theinvigilator beforeleaving the examination
hall. Failuretoreturnisliablefor criminal action.
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of results.
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Time: 3Hours Marks: 200
I nstructions :

(i) Eachquestion carries one mark.
B8 DFHB0 28 S8y, Fod.

(i) Choose the correct or most appropriate answer from the given options to the following
guestions and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Shest,
separately supplied to you.

BHS aYNS BS HHK SRS TEST 8GN JSFTIENK ISNFTI TAJ ¥
©08 1,2, 3 B8 4 3 ad)d OMR 35res HES0s® @4 dopgdd dddm Ko
$0206¢ BEL ar/ers S Fonol DY) GHRrAD D0DSBL.

1. Thedigitinthe placeof = so that the number 223+431 isdivisibleby 9is
dopg 223+431L & 9 JFhAom erfowerds * PSS’ GoddORS 908
(1) 3 (2) 4 (3 5 (4) 6

2. Thenumber of termsin the sequence 2, 4, 8, 16, ...., 1024
odE50 2,4, 8,16, ..., 1024 &° Soreo Sopg
Q 7 (2 8 3 9 (49 10

3. If onethird of the onefourth of anumber is 15, then one tenth of that number is

w8 Doy’ Treld H0deS® Hordd Sos 15 won8, & Bopgd® HES 5ok
(1 12 (2) 16 (3) 18 (4 22

4. Thelargest four - digit number exactly divisibleby 88 is

88 8 pdysomr gricdad Trenifosy 0% dowg
(1) 9944 (2) 9768 (3) 9988 (4) 8888

5. If theH.C.F of three numberswhich areintheratio 1:2:3is 12, then the numbers are
1:2:3dH8S° &&) S dopge K.ar.er 12 9008 & dopgen
(1) 12,24,36 (2) 11,22,33 (3) 12,24,32 (49) 5,10,15

6. Theremainder when 67%isdivided by 7is
67992 7&° aray $u5) 3o
(1) 4 (2 6 ) 1 (4) 2

7. Thenumber which does not suit in the sequence 8, 12, 18, 26, 38, 48, 62is
w0 8,12, 18, 26, 38, 48, 62 &° S0 Howg
(1) 18 (2) 26 (3) 38 (4) 48
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1
If EX(M339+ X2)=3879, then thevalueof xis

ix(44339+ x2)=3879 ©o0d, X Do
12
(1) 43 (2) 57 (3) 37 (4) 47

The L.C.M. of two numbersis 495 and their HCF is 5. If the sum of the two numbersis
100 then their differenceis

Bo dopge &K 495 Sodckn 8 K. 5 e Bodd dompge Iwgo 100 wownd,

& Fso
(1) 10 (2) 46 (3) 70 (4) 90

10.

J5 =2.2361, /3 =1.7321 = ﬁ =
(1) 1.984 (2) 1.9841 (3) 1.98 (4) 2

11.

A sum of Rs. 7,200 amounts to Rs. 9,360 in 6 years at a certain rate of simple interest.
The amount, if therate of interest isincreased by 4% is (in rupees)

o ol 26% Benes® S 7,20000 6 Sosdores® S 9,360 Ingo wHSod. e

5%?5&;0:63 4% 200B 53{) 3080 (Crarces?)
(1) 120,080 (2) 10,880 (3) 11,088 (4) 12,880

12.

The present worth of Rs. 132 dueintwo yearsat 5% simpleinterest per annum (in rupees) is
3ok HoIHT VS 5N 0 &S & 132 Zogo ©og Rd0) (RS e (Erarcheds”)
(1) 120 (2) 122 (3) 112 (4) 118.80

13.

P11

A person borrowed asum of money with smpleinterest asgiven below:

(i) 6% per annum for thefirst three years

(if) 8% per annum for the next fiveyears

(iii) 12% per annum for the next four years

If he paid atotal interest of Rs. 4,240, the money he borrowed (in rupees) is

§Fod IR0 wE 358 & (8od dFor Ferde 568 BJosoar)k
(1) o0& oy oS oroes® Hod8)o°A8 6%

(i) SHT8 ol doSSHores® Hos8o°A8 8%

(i) & Sard e Jdoddoros® JHodd I8 12%

wEL 5§ drner 3ngo & 4,240 eo BYY, wE5 EL8K) ©DY (ErFraHod’)
(1) 3,000 (2) 3,500 (3) 4,000 (4) 4,050

4-A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ikl

P-1 Booklet Code | A

14. A shopkeeper gives two successive discounts of 10% and 20%. If he sellsan article for
Rs. 432, then the marked price of the articleis (in rupees)

08 osteamrdd 10% $500080 20% $5600 condody unyd. @& wf $83PS0

Eoon 432 080 @Doéé, e SYH BE), @EBE Jend (Cries®)
(1) 526 (2) 550 (3) 600 (4) 626

1
15. Two equal sumsof money wereinvested, one at 4% and the other at 45 %. Attheend of

7 years, if thessmpleinterest received from the later exceedsthat received from theformer
by Rs. 94.50, then each sumwas (in rupees)

1
08 08 4% TIPS, H&ET 8 45 Y% TIPS Tothy JSrd Jogrodn DERd DEpK.
7 o1 SSa°ed Bodd 3080708 573)1):‘6 S 5%, 3068 D éi)r)(‘é G"(‘Oéa‘g &oe.

94.50 Q&béow@, 0.8 &), Ingo (rarahes®)
(1) 2,600 (2) 2,700 (3) 2,700.50 (4) 2,685

9
16. Thesimpleinterest on asum of money is 1 of the principal and the number of yearsis
equal to therate percent per annum. Then therate per annumis
9
8o J0goD e &’)% T WdNS® Zc‘é 080, H08A%0 JHoSE\ore Jowpg, D0IE)T°IS

26% TSP Dopgs JHIrS0. w8 H05H)T°A8 Eéc‘f’cg
(1) 10% (2) 12% (3) 13% (49 15%

17. Thedifference between the compound interest and ssimpleinterest at the rate of 14% per
annum on Rs. 5,000 for two yearswill be (in rupees)

& 5,000 07 5058)0°08 14% 7598 Todkd dodSyoresd zﬁ@é% L0880 e Eéé’go
$Gg Sgergdo (Srroheos’)
(1) 98 (2) 86 3 72 (4) 88

18. A person borrowsRs. 3,200 to be paid back with compound interest at the rate of 5% per
annum by the end of 2 years in two equal yearly instalments. Then each instalment
(inrupees) is
8 26§_§0 &>n 3,200 oo H0858)0°8 5% iﬁ@éﬁ%g B0k oIS TreeS” Bokd Hdrd Fendd
TPONT T SBA aﬁt)éoé.:g ®y BHKT. @YW 2.8 &) ToNT InGo (Eraraeos’)
(1) 1,764 (2) 1,880 (3) 1,894 (4) 1,924
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19. A treeincreasesannually by = thof itsheight. If it standstoday at 125 cm., thenitsheight
after 2 yearsis (incms.)
1
0 Bey P8 J0I3& TS T IS g:é S080 DEKB0H. T (KDJEH D&y
125 200.00. @008, 2 J0ddore SSHE o 28y (0.0.08°)
(1) 160 (2) 170
(3) 180 (4) 185
20. If acertain sum of money at compound interest growsupto Rs. 12,960in 2 years and upto
Rs. 13,176 in 3 years, then the rate of interest per annum is
§od 23"533&) zﬁ@&éééﬁ 2 J038y0ree” &ooi 12,960 8 Sodcsn 3 doddores® den 13,176
©8 BN, H05HT°D8 26% Béw
1 21 % 2 ZEfV 3 120/ 4 1EfV
(1) 23 % (2 23% (3 13% (4) 13%
21. Thetime for Rs. 1,000 to amount to Rs. 1,331 at 20% per annum, compounded half -
yearly is(inyears)
©g BoSETIE BESG T HGBS® H03H)o°A8 20% Séw® & 1,000 Jogo e 1,331
058 K)@ sodn (ol oros®)
1 1
1 13 (2 1 (3 2 (4 23
2 2
22. Two numbers arein theratio of 11:13. If 12 is subtracted from each, the ratio becomes
7:9. Thesmaller number themis
o dompgen 11113 INGS® Gamon. wEE T Kok 12 EIIY, w Qg 7.9
©PH08. TES” W) dowg
1 11 (2) 22 (3) 33 4 39
23. Thesum of three numbersis 186. If theratio between thefirst and second is 2:3 and that
between the second and third is 7:9, then the second number is
ok Dopge Indo 186. F00¢5e3 oo dopge Hodg AN 2:3 L0850 B0k, $oxeS
Bopge Ho¢sg NG 7:9 ©0208 BokH dowg
(1) 53 (2) 63 (3) 58 (4) 68
P11 6-A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ikl

P-1 Booklet Code | A

24. Thepriceof ascooter and atelevision set areintheratio 3:2. If ascooter costs Rs. 10,000
more than the television set, then the price of the scooter is (in rupees)

28 B8 $o8a%w BOD2S (television) wle o IYG 312 do s &8 BOD2S &8
gy 6. 10,000 285 S5008, e S7ed §8 (Eries?)

(1) 30,000 (2) 40,000

(3) 45,000 (4) 50,000

25.  When 30 percent of anumber isadded to another number, the second number increases by
20 percent. Then theratio between thefirst and second number is

w8 Dopges® 30 TE0 RoEE Dopgd EOVE, & TodkS dowg 20 TE0 S0, &
3006583 5080850 BoKS Jopge AWG

(1) 32 (2 2:3 (3) 25 (4) 35

26. Ifx:y=3:4,then(7x+3y): (7x—3y) =
X:y=3:4eond, (7x+ 3y): (7x—3y) =
(1) 5:2 (2 4:3 3 11:3 (4) 37:19

27. Thestudentsinthreeclassesareintheratio2: 3: 5. If 40 students areincreased in each
class, theratio changesto4: 5: 7. Originaly, thetotal number of studentsis

Sy 8K 0S” Tghhen 2: 31 5NJS” o). .8 &) S8K8S” 40 H00d Jorgdhen
D8N H5008 & NG 4:5: 7 SrHS08. 06T el Jogo dargdhe dopg

(1) 100 (2) 180 |

(3) 200 (4) 400

28. If ab=cd=ef=12then(pa+ qc+re):(pb+ qd+ rf)=
ab=cd=ef=12w00& (pa+ qc+re): (pb+ qd+ rf) =
1 1:3 2 1.2 3 2:3 4 3:2

29. A pipeof diameter ‘d’ can drain awater tank in 40 minutes. The time taken by a pipe of
diameter ‘ 2d’ for doing the samejobis (in minutes)

Fg0sn ‘d o w8 FQI0 w8 ) FEJ 40 IDTreoS® grd Bdy0d. @B I BaHerds
20" Srgddoom Ko Ferds HE docko (Adros’)
(1) 5 (2) 10 (3) 20 (4) 50
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1
30. A pump canfill atank with water in 2 hours. Because of aleakageit took 25 hourstofill

thetank. Thetimetaken to empty thefull tank dueto leakage (in hours) is
28 Sogron a8 &G ABE® 2 Honws® Jodreod. & &G8 &) ad 88 Swrwom A

1
Q0oHErD8 25 Honeo HZod. es @éa%ég Qo &3 7°® 0358 X)Fé DB00%0 (Kotreres®)

(1) 8 2 7 (3) 10 (4) 14

2
31. Awatertankis gthfull. PipeA canfill the tank in 10 minutes and pipe B can empty itin

6 minutes. If both the pipesare open, thetime taken to empty or fill thetank completely is
(1) 6 minutesto empty (2) 6 minutesto fill
(3) 9 minutesto empty (4) 9 minutesto fill

2
28 3)025@ &G = oo Qod wod. FLS» A D 10 dDTeS® JosKdAB, Tiybw

B & 6 d0ros® 5@ Horentogod. Bok Fiper 800 ¢odd « &8 rom o
@58 M BE FET JodEA8 M HF D000

(D) 98 95¢rd8 6 duen (2) QoKkerdsd 6 dnen

() 2°® 5¢rd8 9 Juen (4) Qo0cerd8 9 duen

32. Theaverage price of 16 different booksisRs. 18. Whilethe average price of 14 of these
booksisRs. 16.50 and of the remaining two books, if the price of oneis50% of the other,
then the price of these two booksis (in rupees)

16330 Y5 e P8k 8. 18, S 14 HIsee it ek &r. 16.50 $obas0
AOS Bokd YAToS® 2.8 T 8 Bk o §85° 50% wond, & 3ok PIsre &8

(BrrcSrees?)
(1) 13,26 (2) 17,34 (3) 19,38 (4) 21,42

1
33. Iftheaverageof xand - (x # 0) isM, then the average of x2 and ? IS

1 1
X588 (X 2 0) © 30 M ®o0d X2 558050 2O He5e0

(1) 1-M?2 (2) 1-2M (3) 2M2-1 (4) 2M2+1
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34. Theaverageageof 28 studentsof aclassis12years. If their teacher’sageisincluded the
average ageincreases by oneyear. Then the age of theteacher (inyears) is
28 $8K8S°A 28 Hood 6’.)(3"5680 Difen H00d0 12 Hod&)oren. T8 G rErgoind S
OB & Jftn H8E JDod)So WK 0. wHd & G HND 550y (donews®)
(1 41 (2) 40 (3) 39 (4) 38

35. A batsmanin his 12t innings, makesascore of 63 runsand thereby increased his average
score by 2 runs. The average of his score after 12t inningsis
w8 RS 88 1285 adyonyes® 63 Hden B, &8 3985 Hrftnd TS 2 HhihHew
oI, & 125 adof) SHard @8 Dt YD

(1) 42 (2) 41 (3) 35 (4) 34

36. Theaverageof 9 numbersis30. If theaverage of first 5 numbersis 25 and that of the last
3 numbersis 35 Then the 61 number is

9domge dfen 30. 0053 Sdowge Bt 25 H08a50 DB 3dopge diftw 35wond,

65 Sopg
(1) 20 (2 30 (3) 40 (4) 50

37. Out of three numbers, thefirst istwice the second and is half of thethird. If theaverage of
the three numbersis 56, then the difference of thefirst and third numbersis

Soorcdy Dopgees” 0l dowg BodHm IS Bododer oSN Hords orAS® Bifo. &

Sor@odd HK5en 56 wond Jude Dopg $odakn Hordd domge Ky B0
(1) 12 (2) 20 (3) 24 (4) 48

38. Inanexaminationitisrequired to get 40% of the aggregate marksto pass. A student gets
142 marksand isdeclared failed by 18 marks. The maximum marksof theexaminationis

208 HOES® & HERUESLrIS o Sordy o0& 40% S8 00 T°ad. 8 Jargd 142 Soedoy e

Fob 18 Srdyen S5y 5000850880 S0ydtn KHEEoT . & HOEK KBR Sordy e
(1) 600 (2) 400 (3) 460 (4) 520

39. Thepopulation of atownis1,54,000. Itincreasesby 5% during thefirst year. During the
second year it decreases by 10% and increases by 10% during the third year. Then the
population of the town after 3 yearsis
08 é%e@o@‘&) aarer 1,54,000. 30088 Sod8)80e” @& 5% A0k, Boks Dod&)Soes®
08 10% $4 Sode Sords Sod)S0eS” 10% 28hA0s. Soridy oIS ore SSard & Hée
BT
(1) 1,61,700 (2) 1,60,700 (3) 1,60,083 (4) 1,70,062
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40. A number xisincreased by 30% and then decreased by 30%, then the number x
(1) Doesnot change (2) Decreasesby 6%
(3) Increaseshby 6% (4) Decreasesby 9%
2.8 dopg X3 30% od, S&ard 30% Showrds. & dopg X
(D) S8 (2) 6% snod
(3) 6%20A0d (4) 9% $n0b

41. Onesideof asguareisincreased by 20%. To maintain the same areathe other side will
haveto be decreased by

WEBRY 2.8 gH2208 2000w . @B ITwFOMT 08 T Tok:s ¢Herd) SN0UWSLBI

2 2 1 1
(1) 165% (2 143% (3 13% (4) 143%

42. Two numbers are in the ratio 5:4. 'If 40% of the first number is 120, then 60% of the
second number isequal to

ok Dopgen 54 IS’ GImow. 120 I088 Sowpges® 40% ®0o08 BodS Sogpges®

60% & B5r556
(1) 124 (2) 134 (3) 144 (4) 156

43. Inanexamination therewere 640 boysand 360 girls. If 60% of boysand 70% of girlswere
successful, the percentage of failurewas

28 H0ES” 640 5008 erendd, 360 Ho0d wrdfen &, 60% rendd Sodasn 70%

O GRS, S 70 TS0
(1) 36.4% (2) 35.4% (3) 32.8% (4) 35.6%

44. A person gave 20% of hisincometo his elder son, 30% of the remaining to the younger
son and 10% of the balance he donated to atrust. If heisleft with Rs. 10,080. Hisincome
(inrupees)

08 558 88 ©mraos” 20% DG oS58, DADS &AST 30% AL) HIrIE 1Y)
205> DAOS TAS® 10% 2.8 RS Tdo BT, S $5¢ xos° &oen 10,080 A,

S SN0 (SrFradoees?)
(1) 50,000 (2) 40,000 (3) 30,000 (4) 20,000

45. The difference between a discount of 35% and two successive discounts of 20% and
20% on acertain bill isRs. 22. Then the amount of the bill (in rupees) is

08 D 35% 0r008B8 [508030 BodS 58D oron&en 20%, 20% 506 BSo S 22

@08 & HLYPHK) Ingo (Krarches®)
(1) 1,200 (2) 2,000 (3) 2,200 (4) 2,640
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46. A sellsahouseto B at aprofit of 12%. B sellsitto C at aloss of 10% and C sellsitto D
for Rs. 21,44,520 making a profit of 15%. The cost of the house for A (inrupees) is

A 28 2080 B8 12% e~eed8 %9265"&663. B &>dd 10% ssagag C 8 58050 Cmdd 15%

eregfo :éz'ﬁt)éog D 8 & 21,44,520 8 ST A e 208 §8) o (Erardhos®)
(1) 20,00,000 (2) 18,50,000 (3) 25,00,000 (4) 22,50,000

47. A trader sellsan article at aprofit of 30%. Had hesold it for Rs. 352 |less, he would have
gained 20% only. The cost price of the articleis (in rupees)

28 D8 w8 393 30% orerds wldrydd. 98l TAY dr. 352 SE ST @y
&08 088 20% SrE@d orgo $0) odd. & SRNY §Y) §8 (rarches®)

(1) 3,520 (2) 3,580 (3) 1,560 (4) 1,700

48. A man bought 6 apples for Rs. 24 and sold them at 4 apples for Rs. 20. His profit
percentageis
08 $g8 8. 24 0¥ 6 Srbdoln ), &r. 20 o5 4 aSrdSen RSN %926?&@. )
gy S0
(1) 25 (2) 30 (3) 40 (4) 50

49. A shopkeeper sold two pressure cookersfor Rs. 1,800 each. On one he gains 30% and on
the other heloses 25%. Hisgain or loss percent in the whole transaction is
(1) 488%Loss (2) 4.88%Gan (3) 3.74%Loss (4) 3.74%Gain
28 5708 Bodd (RS §og) 8k .8 § ¢ & 1,800 0 ey, o8 AR ©88
30% ergo oo Bodd TR 25% $[0 SD)0d. & 0G0 TBIS’ WEIE EOAS ergo
Bg SRo.
(1) 4.88% %o (2) 4.88% ergo  (3) 3.74% S0 (4) 3.74% orelo

50. The profit earned by selling an article for Rs.832 is equal to the loss incurred, when the
same articleis sold for Rs. 448. Then the sale price of the article for making 50% profit
should be (in rupees)

08 529 & 832 08 el SQYS eFo ©F Do Kr. 448 o BT I

{08 ddrdo. ®od 50% erefo °HErdE ©50)8) Do (Brrasees®)
(1) 920 (2) 960 (3) 1,060 (4) 1,200

51. If grossprofitis34% of the selling price of anitem and x percentage of itsselling priceis
equal to 25 percentage of its cost price, then x =

28 3P 88 wrafo ©Ad IJ0S® 34% ®on ok $0ABN T VAN IOS® X TS,

58 J0G* 25 7E5058 ddoSdn OB X =
(1) 154 (2) 16.5 3 17 (4) 183

P11 11-A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ikl

P-1 Booklet Code | A

52. A sdlsapillowtoB at aprofit of 20%. B sellsitto Cat aprofit of 25%. If C paysRs. 243
for it, the cost price of the pillow for A (in Rupees) is

20% o~erd8 A 208 Hodod B 8 &95?&)@3. B 5700 25% eerd8 C 8 @:63‘%@3. o8 C

. 243 5@'?_09 A 50k §&) Jo (Erarades)
(1) 150 (2) 160 (3) 162 (4 173

53. Inaclasshaving 40 boysand somegirls, the average ages of boysand girlsare 13.5years
and 13 years respectively. The average age of the whole classis 13.4 years. Then the
number of girlsintheclassis

405008 2370 §oBE erd8en DAL el SEKReS® errend 508030 erdEe D Saddoen
$Ed 13.5 Joddoren Lodddn 13 Joddoren. Indo SSHE D) diftwn Hodo

13.4 Joddyoren. @ & SSHES A rdse dopg
(1) 10 2 11 (3) 13 (4 20

54. Ratioof present agesof Pand Q are7:3. After four yearstheir ageswill beintheratio 2:1.
Then the present age of P (inyears) is
P 085 Qo D8 oo Q8 7:3. Srenrd doldore $078 a8 Sabdoe QS
2.1 95808, @Yk P Rxg), 88 Sodo (Sodehoreos?)
(1) 24 (2) 28 (3) 30 (4 32

55. The product of two positive numbersA and B is240. If twice of B ismorethan A by 4,
thenBis

3% Sopgeo AB8ciw B o oxo 240 B S 8o Asan 4989 ®osd, ¥y B
1 12 (2 20 (3) 10 (4) 14

56. Four persons can reep 12 acresin 10 days by working for 9 hoursaday. The number of
hoursin aday that five persons have to work in order to reap 16 acresin 8 daysis

S $g8en 12 8Tre Hotai Sardy 9 Kobe FTHYS HAVD 10 Feres® Sobreod.
&8 $583e0 16 8T Dot 8 Feres® Saireod §erdd HAVAFYS Hotre dowpg

(1) 12 (2) 10 (3) 9 (4) 8

57. A candoapieceof workin4 hours. B and C together take 3 hours, A and C together take
2 hoursto doit. Thetimetaken for B to complete the work is (in hours)

A8 5D 4ot Bodied. B5odcin CEOD & HAQ 3Hobrees s, Adodain CEdd

& DAY 2 Kobrod® Voo, & HA Yo V@8 B 8083 oo (fotoeds?)
(1 10 (2 12 (3) 8 % 9
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58. A contractor undertook to finish acertain work in 124 days and employed 120 men onit.

2
After 64 days, hefound that he had already done 3 of thework. Thenumber of menhecan

discharge now so that thework may finishintimeis
w8 HBTH w8 DAY 124 Seres’ Hrf DBoHmA8 ©ohgdod, wokdimrss 120 Hood

2
558080 HIS'E oo, 64 Sere Sovgd §£6 5080 D g0 BeodoBoam)d.

D938 HJ0Er8 DA FrY Vot SNowdedS HAITD dowg
(D) 24 (2) 56 (3) 64 (4) 80

59. A and B undertook to do a piece of work for Rs. 4,500. A alone could do it in 8 days
and B alonein 12 days. With the assistance of C they finished thework in 4 days. Then
C’sshare of money is(in rupees)

A 208050 B 8. 4,500 %0 208 DA Vo8 2RAPETHE. & DA A 3830 8 SPereds®,
B Srgd 12 Sares® Bobxed. C RBwg) $5¢0Hos" o6 4 §erd. O g B
NP céew?)é‘ Co333§2; T (Brarcheos?)

(1) 2,250 (2) 1,500

(3) 750 (4) 375

60. Sevenyoung men and four boys can completeawork in 6 days. A young man completes
doublethework than aboy inaday. The number of daysthat five men and four boysrequire
to completethework is
QB 03058000, SR ereodd 8O wl HAJ 6 Serd’ Frf WohKwd. Swed
220 W HAB B30 DD 2.8 AS05K% BArck. DB AS0S5EeD, SR rendd
© D FY VoHE A8 57HdS Swre domg

54
(1) 5 (2) 4 (3 6 @) -

61. A circular wireof radius21 cmiscut and bent intheform of arectanglewhosesidesarein

22
theratio of 6:5. Assuming t = EE the area enclosed by the rectangle (in sg. cms) is
Fgrgsn 21 Do.aven Ho el SE:sd 86 800D 6:5 8T gheren Ko ef
22
&Y SSWomr Sowrdd. T = = 0508008, © HWSHIPos HoagFS JTogo

($.20.20 o?)
(1) 540 (2) 1080 (3) 2160 (4) 4320
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62. A rectangular paper, when folded into two congruent parts had a perimeter of 34 cm for
each part folded along one set of sidesand sameis 38 cm when folded along the other set
of sides. The area of the paper is(in sg. cms)

8 5%&@36@@ 5°A&°Q) B0y JELIDrS oo o8 28 o 33 JEAIHYE
W88, KD hinFod 34 Do.dowr M, HOBNE a8 HaErw FH HEISHG ©d
38 Do.oenm aHd. ¢ s°igo ITego ($.20.00.08°)

(1) 140 (2) 240

(3) 560 (4) 360

63. Thesideand oneof the diagonalsof arhombusare 13 cm and 24 cm respectively. Itsarea
(insg. cm)is
28 380 TS ahekn 8050 DEYHM HHdM 13 200.20e0 08050 24 0.20.00.
o IT0 0 (5. 200.20.0¢5%)
(1) 156 (2) 240 (3) 120 (4) 130

64. Thesidesof atriangleare3cm, 4cmand 5 cm. Thearea(in cm?) of thetriangleformed by
joining the mid-points of the sides of thistriangleis
w8 @800 gharen 3 0.0, 4 0.0 0881 5 Do . & @0 ghare ¢y
DodorPos §OE IT) 880D 3TZ0 (FNw0.a0.0S°)
3

3
(1) 6 () 3 ® 3 @

65. Two personsundertaketo do apiece of work for Rs. 1,200. Oneaonecoulddoitin 6 days
and the other in 8 days. With the assistance of aboy they finishit in 3 days. Thedifference
between the shares of the two persons (in rupees) is
QS Sg¥gen w8 DA &, 1,200 o5 BO0ErQ8 2DPETY. T0S° 2§ 3 AT T
6 BIZ00S® BAHKOAB, J08BEE &M 8 S'awred® FohKwkd. e BB JdFPa%os

T & HAJ 3 Fros” Hrf BT, ©HE & G SgEe Sodes” Br (Sraradbes®)
(1) 150 (2) 200 (3) 250 (4) 300

66. Two men undertaketo do apieceof work for Rs. 5,600. First man alone can do thiswork in
7 days while the second man aone can do thiswork in 8 days. If they work together and
completethiswork in 3 dayswith the help of aboy, then the amount the two men together
getis (inrupees)
2GS SgEyen 2.8 HAJ &, 5,600 08 BoHgerds OB, 30053 Sg8 8B oA
7 Serod® BohgrOnS, Souds g8 0.8 3 8 Swres® Bolbgied. wf radd drsdos’
FOFEr 8O & HID 3 Ferod® FrY z?)oﬁagﬁ@ﬁé, 55"6@63 O 253{) a0y (8. e5%)
(1) 4,000 (2) 4,500
(3) 4,580 (4) 4,600
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67. If thewagesof 6 menfor 15 daysbe Rs. 700, then the wages of 9 men for 12 dayswill be

(in rupees)

15 &fer080 6 508 HHDe I$So . 700 ®ond, 12 Sferedn 9 5008 HHIe Isdo
(SrrcSeos®)

(1) 840 (2) 848 (3) 1050 (4) 900

68. 8mencandoaworkin12 days. After 6 daysof work, 4 more men were engaged tofinish
thework. The number of daysrequired to completetheremainingwork is

8 5008 HHew 28 DAY 12 Freos® Babgienhe . 6 Fwe HJ SHod Q088
30508 §rE & I Hrd RoErdE oo . &8 WADS JHIJ Sohowerds
5HEHRg e Dowg

(1) 2 (2 3 (3) 4 (4) 5

69. Thenumber of 5-digit even numbersthat can beformed usingthedigits1, 2, 7, 9, 4 without
repetition is
QSoryBo some 1, 2,7,9, 40808 Dd&éiﬁﬁ@ﬁ 5 - wosw HBdopgew Jopg
(1) 16 (2) 36 (3) 24 (4) 48

70. From agroup of 6 men and 4 women a committee of 4 personsisto be formed. The
number of different ways in which it can be done so that the committee has at |east one
womenis
6 08 e, 4HEH Qoo &) af BB $Hod 4kHE S58ed) al EHB

Ddo)éw"@. Q%0 a8 @ 00 J® ﬁo@éoom Ddo)dzﬁﬁ@ﬁ g8 dopg
(1) 210 (2) 225 (3) 195 (4 185

71. Tocompleteawork A takes6 daysand B takes 12 days. After A and B worked for two days,
C joined them and they completed the work on the 3rd day. The number of days C aone
takes to complete the samework is

28 DA g Voerd8 A8 6 GParen 00050 B8 12 Seren Hendod. A Sodasn B e
Bokd S'aren HAVRS $Ha°d 388 CEodm, FPdod® Jords &%2rd & DA Jrd BF°8.

©3 DA FrY Dobgerds Ceag)ds HT Saren
1) 3 (2) 6 3) 4 (4) 8

72. Therearefivemenand four ladiesto dine at around table. The number of waysthey can
seat themselves so that no two ladies are together is

©000eHE PR $B0I S Yoo ¥ Kol wy Wty FTaT I8 ErETo.
Q BHKH Lf’_ooen 802 EriSoom 3K ErSHKOR Do Sowg
(1) 3280 (2) 3180 (3) 3080 (4) 2880
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73. A classstartsat 9:15amand laststill 12:38 pm. Four periodsare held during thisinterval.
After every period, 5 minutes are given free to the students. The exact duration of each
period (in minutes) is
2.8 S8K8 €wcsoo 9:15 Kon oo Sogrgimo 12:38 Ko SEE> &8, € g0
08 4 280H&e0 2&HE 0w, wEYE) 20HE SHard T ghes 5 Adnre oo
wotnod. w88 5005 & Roog), K)go“é\ JZ00%H0 (Adorees®) .

(1) 51 (2) 50 (3) 48 (4) 47

74. Twotrainsof lengths 200 m and 180 m run on parallel tracks. When running in the same
direction the faster train crosses the slower one in 38 sec. When running in opposite
directions at the speeds same as their earlier speeds, they pass each other completely in
5sec. The speed of the faster trainis (in m/sec.)

200 donex K080 180 done PEYX) Bokd 9y Socd Jdrodd JipeP JORGIS T 0.
©d 28 8IS’ IHRHIYE TGS IEYS K0S’ IF) Doo SEYS IHos IF) @A
38 DEHOS® TNBH08. ©F ITOE JLVBKH dFOS® IF, W Wl TIATES o
5 28H0s® mineron. IS S K08 S&B Beo IKo (/pEHeS?)

(1) 43 (2) 45 (3) 50 (4) 60

75. Atrain 135 mlongisrunning with aspeed of 50 km/hr. Thetimetaken by it to passaman
who iswalking at 4 km/hr in the opposite direction (in seconds) is

135 Qoéod &) a8 Deo Kowso 50 .00 FKos® &0, A8 whInpom Kok

4 8.0 35088 S8 ¥ $58Q T8 wd HHEI D300 (REvees?)
(1) 10 2 9 (3) 11 (4) 8

76. Thedistance between Pand Qis27 kms. Two menA and B walk from Pto Qat rates4 and
5 km an hour, respectively. B reaches Q and returns immediately and meetsA at R. The
distancefrom Pto Ris (in kms)

PSodasn Qo Sogg cordo 27 8.00.00. A5 Beds QG Sg8yen Plood Q8 Hodrsd
561 4500050 58.00 FTHYS S, Q8 [0S BT0obd 80h w0%e0dd AJ RS

807, Pood RE &) drdo (&8.20.0¢5%)
(1) 20 2 21 (3) 23 (4 24

77. A train passesatelegraph postin 8 sec. and a264 mlong bridgein 20 sec. Then thelength
of thetrainis(in mts.)
w8 Ben a8 BOITD) Joard) 8 DED oS, 264 e PEPHP) $o858 20 wEHes o
TR, ©E 8 Jeo PEY (LdS’)
(1) 180 (2 176 (3) 164 (4) 158
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78. A cangoround acircular path 8 timesin 40 min. If the diameter of the circleisincreased
to 10 times, the time required by A to go round the new path once, travelling at the same
speed as beforeis (in mins)

A 28 3)Em58 o0 wotay 40 AdoreS” 8 8 IHiwdy. @ HEY argr) 10 3w
2008, 505D IK0E'T IYPSYD, & FET0 oty .80 88KerI8 Al Hg ddooso

(T oes?)
(1) 25 (2) 20 (3) 50 (4) 100

79. A maniswatching fromthetop of atower, aboat speeding away from the tower. The boat
makes an angle of depression of 45° with the man’seye when it is a a distance of 60 m
from the tower. After 5 sec, the angle of depression becomes 30°. The approximate speed

of the boat, assuming it isrunning in still water (in kmph) (Take +/3 = 1.732)
0 S8 28 FAYdo P od wE P IYFSLoo SrTdd. & 9 FHoed8 60 .o
S80S So)ayy & H$g8 S0l H& 45° AS)Feo BA0s. 5 DEHe SHTE A )

§'e00 30° ®owod. 7% dfie B0S® IHHKE ok, V3 = 1732 8:%0%08, oo
o IKo (Koods 8.0.e¢°)

(1) 3162 (2) 36
(3) 37.26 (4) 40
80. If 12+22+32+ .. +x2= X(X+1)6(2X+1)’then 12+32+52+ .. +192=
12+22+3R2+ .. +x2= X(X+1)6(2X+1) 0008 12+ 32+52+ . +192=
(1) 1330 (2) 2100
(3) 2485 (4) 2500
81. Th fthe series 24—+ + g+
) esum of the series - 2ttt is
2 3 2 3
Eggf) g+?+¥+¥+....°‘3 O_:bggzr 5&)%0
y » 15 y 13 o 4
(1) 24 (2) 24 ()24 (4) 24
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82. If abody falls 16 m in the 1%t second of its motion, 48 m in the 24, 80 m in the 3'9,
112 m in the 4™ and so on, then the distance it fall during the 11t second of its motion
Is (in meters)
w8 599 T K050S° Inde DES® 16 adadd, Todd ELS® 48 aodadd, Ho3iS
850e* 80 Dotad, TeolS DEDHS® 112 Dot THYE HEr ol TR HSS0S

115 80 06 58 Erdo (Dowge?)

(1) 338 (2) 340 (3) 334 (4) 336
83. IfitwasaSunday onJan 1, 2006. Theday of theweek onJan 1, 2010is

(1) Sunday (2) Saturday

(3) Friday (4) Wednesday

23558 1, 2006 § es@ar8b80008 2558 1, 2010 $ 0805 &'ew

(1) esda8o (2) #Ja8o0

(3) HEgzso (4) e=ngaso

84. Thedatesof April 2001 on whichWednesdaysfall are
2001 QRSS® wogaroren Sy 8ded
(1) 1,8,15,22, 29 (2) 2,9, 16,23, 30
(3) 3,10,17,24 (4) 4,11,18,25

85. Thecalender for the year 2007 will be the same asfor the year

2007 & $058)85) sPgo0ddisy ddom segeods wod dodeso
(1) 2014 (2) 2016 (3) 2017 (4 2018

86. Which of thefollowingisnot aleap year?
& 808 TIS* O JHod)B0 5B AB?
(1) 700 (2) 800 (3) 1600 (4) 2000

87. How many timesdo the two hands of the clock coincidein aday?
08 5o IYIFE) KAAIrE)) Bock S0y H8FIJ00?
(1) 22 (2) 24 (3) 20 4 21

88. Thetimeawatch loses per day, if itstwo hands coincide every 64 minutes (inmins.) is
28 B8 HAGAIrSY Todd $neh) B8 64 AT oK 8PN, & K&ASrSo Seres”® 85D

JB0c%0 (Adres?)

S 8
(1) 96 (2) 80 (3) 381—1 (4) 321_1
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89. Thetime between 7 and 8 O’ clock when the two hands of a clock will be in the same
straight line but not together is

2
(1) Sminpast7 (2) 51—1 min past 7
3 5E inpast 7 4 5E inpast 7
(3) 1 minp (4) 1 minp
7 500050 8Hobrew S¢Sy w8 HAAITEY Todky Sy A8Doero soK0T es JDEFEPeS*
&oRd d3o%0o
2

(1) 7 Kotoen T3 5 ddoaren (2) 7 Kotren ¢ SE Qoren

3 5
(3) 7 Kotoen & SE QAoaren (4) 7 Sotren =& SE QAo en

90. Theangle between the two hands of aclock whenthetimeis8:30is
%000 8:30 @080k KEASrEoS ™A Todd Ba0¢f) Bogsg 80
(1) 80° (2) 75° (3) 60° (4) 105°

91. A starts business with Rs. 3,500 and after 5 months, B joins A with some capital. After
ayear, if the profitisdivided in theratio 2:3. Then B’s contribution in the total capital is
(inrupees)

08 rgroed) Ao, 3,500 8° 80D, SJIve s&Had B&od VPGS A’ RO, e
oo SHTE ergfo 2.3 AQBS® rNodds, wYPd Ingo DENES® B S0k
(SrraSoees®)

(1) 9,000 (2) 7,000 (3) 5,000 (4) 4,000

92. A,BandCinvested Rs. 8,000, Rs. 4,000 and Rs. 8,000 respectively in abusiness. A left it
after six months and at the end of eighth month, there was again of Rs. 4,005. Then the
shareof B initis(in rupees)

A, B 508050 Ceo af argrdos® Scodm o». 8,000, 8. 4,000 So8osn &. 8,000
PG VEDRD. 8D Jvw SHTE A T Hod 2oDLE T AANE Jo ASY
8. 4,005 o ersso Sod. o°S® B S0 (SrradoeesS®)

(1) 690 (2) 790 (3) 890 (4) 990

93. In business, A and C invested amounts in the ratio 2:1, whereas the ratio between
amountsinvested by A and B was 3:2. If Rs. 1,57,300 wastheir profit, the shareof B init
(inrupees) is
28 g>rSos” Adasn Ceo 2:13)8S° enad a8 ASdcin B o Digade 8
32 508 SIS orefo & 1,57,300 ©ox08 woihe® B arer (Srdrches?)

(1) 48,000 (2) 47,000 (3) 48,400 (4) 47,400
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1
94. A and B are partners in a business. A contributes 2 of the capital for 15 months and

1
B received 1 of the profit. Thetimethat B’smoney wasused is
(1) 1year (2) 9months (3) 6months (4) 10 months
1
A 58050 Be§ argardods’ eriarginen. Soreddod” 1 $0& 15w Agmrd, o0

1
ergoes® Z S Lok B8 S)od. B S0E), @‘:533& GIRBFA0NS dJoo%ho
(1) 1os880 (2) 9 o (3) 6 Jvew (4) 10 oo

95. Thenumber of bricks, each measuring 25 cm x 15 cm x 8 cm required to construct awall
of dimensions 10 m x 4 m x 5 m when 10% of its volume is occupied by mortar is

100, X 40. X 5. © HoSrered Ko o8 F'¢ o yos® 10% 28 508" V0é8, T
EQEA8 5°50dS 25 Do.0. X 150.0. X 8 0.0, © HoSreren Ko Ytose dopg
(1) 40,000 (2) 80,000
(3) 70,000 (4) 60,000

96. Theradii of twocylindersareintheratio 3:4 and their heightsareintheratio 5:2. Theratio
of their volumeis

Codd drTro Igrges 314 IQJS'Kr, T8 & 52 IZHJS Ko wIow. T8
BB Srerre AXNE
(1) 45:32 (2) 27:20 (3) 35:32 (4 32:45

97. If baseradii of aconeisincreased by 30% and its slant height is made double, then the
percentage increase in the curved surface areais

08 $0803 & gy 30% o0, T dren IE Bododen WY T SES© TS

N0 FBOo
(1) 140 (2) 150 (3) 160 (4 170

98. A hemisphere and acone have equal bases. If their heights are also equal, theratio of the
areas of their curved surfaceswill be

o8 ©dff¥o, Y05 sroew Jdrdo. T8 IHw Sra HSrSHond, T8 IS
STOrge AN

(1) 1:+/2 2 J2:1 (3) 1:2 (4 2:1
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99. The height of aconical tent is 14 feet and the radius of its base is 6 feet. If 12 persons
sleep inthistent, the average cubic feet of air available to each person (in cubic feet) is
F050) ©5°808" &) 0.8 HEdY I8y 14 wdrHen $o8d5» &7 grargrgo 6 eoroen.
o HFE0S” 12 Ho0d Sg8ien JBFE08, 0.8 08 wold JdHn MmO HPIHdITwo
(Hod s Hos?)

(1) 30 (2) 33 (3) 36 (4) 44

100. The metallic solid cone is melted and converted into the shape of solid cylinder of equal
radius. If the height of the cylinder is6 m, the height of the coneis (in mts)
w8 ST 8 FoBH E0A0D ©T Tgrgo Ho 2w NS Ird wsrdomr Irond. &
S0 Iy 6 don wand, & Foko Iy (obys?) |
(1) 15 (2) 16 (3) 17 (4) 18

101. Themissingterminthesequencel, 3,3,6,7,9, ,12 21is
woE0 1,3,3,6,7,9, _, 12,21 S° S*0S H&o
(1) 10 2 1 3 12 (49 13

102. Theterm that comes next in the arrangement of lettersgiven below is.
8o @S WS ©HbES” Sod HTW) Do

YEB, WFD, UHG, SKI, is
(1) QGL (2) QOL
(3) TOL (4) ONL

103. Themissing terminthe following sequenceis
808 WED00S® S*RoNS Do
4,9,25, _,121, 169, 289, 361
(1) 49 (2) 64 (3) 81 (4) 87

104. The 21 term in the sequence 3, 9, 15, 21, ... is
edEdo 3,9,15,2]1, ... S° 2185 Hdo

(1) 117 (2) 123 (3 121 (4) 119
105. Which term of the sequence 5, 10, 20, 40, ... is 12807?

(1) Eighthterm (2) Ninthterm

(3) Tenthterm (4) Seventhterm

wloEso 5,10, 20, 40, ... &° 1280 2% H0?

(1) Q&S Heso (2) &5 Heso

() 58S Heso (4) 5 HSo
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106. 7528 isrelated to 5306, in the same way as 4673 isrelated to
7528 &3 Hopgso 5306 $02206008 §8S° 4673 & H0200800S dowg

(1) 2367 (2) 2451

(3) 2531 (4) 2641
107. 25:125::49:

(1) 206 (2) 180

(3) 216 (4) 343

108. ‘BELOW’ isrelated to ‘OBWEL' in a certain way. The pair among the following having
samerelationshipis
‘BELOW'’ § ‘OBWEL’ 2.8 Ksc‘g@é‘s 2020800S58. 808 TS® @R Doodo 8O 208
(1) REPLY:LRYPE (20 ALONG:NAOLG
(3) DRAFT:FDTRA (4) YEARS:RESYA

109. Thepair among thefollowing that hasthe samerelationshipasOFTEN : FOTNEs

808 e, OFTEN : FOTNES o do205°s) 89 ) 0.
(1) HEART:TRAHE (2) RISKY:IRSYK
(3) OPENS:SNEOP (4) LUNGS:UNLGS

110. Thepair among thefollowing that hasthe samerelationship asthat of ROCK : CROK?

8o& Qe5* ROCK : CROK &° o 5020573 898 208

(1) BALE:ELAB (2) MIND:DINM
(3) MEAN:AEMN (4) HAND:NHAD

111. 34:12::59:
(1) 14 (2) 47 (3) 38 (4) 45

112. If PAPERiscoded asQCSIW theninthat code EXAMPLE iswritten as
.8 §6¢° PAPERQ QCSIW 9 o7 @@ §&s° EXAMPLERQ o7 240
(1) FZDUQRL (2) FZQDURL
(3) FZDQURL (4) FZQUDRL

113. If LARSEQ isthecodewordfor MASTER, thenthecodeword STEAM is

LARSEQ w38 MASTERS 86 %¢53:8, STEAM & §6 5o
(1) RSEAL (2) SREAL
(3) SREAM (4) SRAEL
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114. Precaution : Accident : : : Diseases

(1) Doctor (2) Patient

(3) Sanitation (4) Medicine

J00080 e ¢ RSTSo ¢ : &mren

(1) Scdoged (2) &a

(3) HEss (4) oo
115. MP: HK : : WZ:

(1) Qs (2) PS (3) RU 4) R

116. If AIRTEL iscoded asCKTVGN then RELIANCE iscoded as
AIRTELQ CKTVGN m §°& B030208658°, RELIANCE S §°& &0

(1) TGKNCPEG (2) TGNKCPEG
(3) TGNKPCEG (4) TGNKCPGE
117. If CAR, TIN and BOAT are coded as 364, 182 and 7561 respectively, then CONTRACTOR
iscoded as
CAR, TIN, BOAT o0& $83me 364, 182, 7561 e §°& 8, CONTRACTORS §°&
(1) 3521643154 (2) 3521463154
(3) 3524163154 (4) 3521634154

118. The odd thing out of 338, 158, 639, 543, 449 is
338, 158, 639, 543, 449 ©&° SOOI

(1) 449 (2) 639 (3) 543 (4) 158
119. In the letter-number sequence ZG 13, , VM 17, TP 19 the correct |etter-number
that fillstheblank is
©ES Sopg wEH00 ZG 13, , VM 17, TP 19 ¢5* 90®¢5° oSS DO wEs
éomg
(1) XJis5 (2) YI17
(3 YI1s (4) RS15
120. The next term in the sequence of letter arrangementsis
AD, FC,HK, MJ,
©ES dw wlESo AD, FC, HK, MJ, S® o7 H&o
(1) NQ (2) OQ (3) MP (4) OR
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121. A woman going withaboy isasked by another woman about the rel ati onship between them.
Thewoman replied, “My maternal uncle and the uncle of hismaternal uncleisthe same”.
Therelationship between thelady and boy is
(1) Meterna Grandmother and Grandson (2) Mother and Son
(3) Auntand Nephew (4) Paterna Grandmother and Grandson
28 eodS IHI) o8 QI H8 § T0 HEg 2ogrE0 DI V&AL, NS 1y ‘&
PSR, & e BSIrS08 DSITrS w887 0 ddrerdo Y)0d. © @g, 208

Ko aaocﬁoéogo
(1) ooy, S0k (2) 89, &%
(3) o4, 2632603)653 (4) 5%‘653&, 08B0

122. Pointingto G aperson D said, “Hisonly brother isthefather of my daughter’sfather”. Then
Gisrelatedto D as
(1) Grandfather (2) Father
(3) Brother-in-law (4) Paternal Uncle
G SrYsr a8 Hg8 D “wohd Bng) o3 a8 Bk & Eréddd $0@8 god” ©d
Bﬁl’o)céo. @éjcéo D8 G&° aaoCéoéogo
1) e (2) o (3) =S (4) ererom

123. Examinethefollowing relationships among membersof afamily of six persons- A, B, C,
D,EandF
(i) Thenumber of malesequalsto that of the females
(i) AandEaresonsof F
(iii) D isthe mother of two, one boy and one girl
(iv) Bisthesonof A
(v) Thereisone married coupleinthefamily at present
Aninferencethat can be drawn from the above informationis
(1) A,BandCareall females (2) Aisthehusbandof D
(3) Disthegrand daughter of F (4) EandFarechildrenof D
& Sg8gen A, B, C, D, E, Feoo Ko 28 Sotaow éeﬁages:: 8od dowogrenam)ow.
() Botwowods® eiard dopg Sofard Bopgsd dSrSo
(i) A, Eeo F& Soddoen
(iill) 28 arend, el rdde 1gds 8O D
(iv) A8 B%drsd
(V) ©%98°08 S0t0020S° &8 ITers Bod wod
2 ddrardo oot Tradifeo &l &)cgdsa
(1) A,B,Ceo ®088> e8570 (2) D& A8
(3) F& D Sododooren (4) E,Feo Ddoa S0
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124. One among 17, 19, 23, 27 and 29 is different from the other four. The one which is

different is
17, 19, 23, 27, 29 ©&° 2,88 MADS Qo8& DBHN08. De3eS® &9 DPHOR
(L 17 (2 19 (3) 27 (4 29

125. K isthebrother of N and X. Y isthe mother of N and Z isthe father of K. The statements
among thefollowing that is not definitely trueis

(1) Kisthesonof Z (2) Yisthewifeof Z
(3) Kisthesonof Y (4) Nisthebrother of X
N, X o8 K&k, N8 Y 89, K& Z&og. §08 9355, pydon Jdzo 578
(1) Z8& Kgdrsadk (2) Z8 Yersg
(3) Y 8 Kgodrsok (4) X8 Nk
126. Anthropology : Man: : Anthology : ?
(1) Nature (2) Trees (3) Apes (4) Poems
$r3S HBerd TJ0 1 IrdHh ¢ Srosro ?
(1) 88 (2) 3 (3) o>Socen (4) Sorgen

127. A man standsfacing West. Heturns45° in the clockwise direction and then another 180° in
the same direction and then 270° in the anticlockwisedirection. Thedirection heisfacing
now is
(1) South (2) North-West (3) West (4) South-West
28BS DESE HENY B WDHIPOT Jwad G, WS HEgn B3S° 45° 88A, o Wi
6§ 180° 88h, ep @EEgn &¥S® 270° 88k, adyh 988 @dSwpor &) BF

(1) &8ee0 (2) sossgo (3) H&d08 (4) I8
128. A manwalksinthedirectionsgivenbelow:

(i) 50mto East (i) then 50 mto South

(iii) and then 120 m to West (iv) later 25 mto North

(v) andfinaly 70 mto East

Then the distance (in meters) between the starting point and the last point is
28 $g8 (808 A28 BFS” Schdyam .

(i) 50 ao. Sy 39 (i) SSarg 50 Q. $fo D)
(iii) &% 120 . HES08 3D (iv) S50 25 . wddo 3D
(V) Q88m 70 2. sy 3D

@YK 088 DoY) Sod VI8 HocoYB Ko drdo (Miods®)

(1) 25 (2) 30 (3) 40 (49) 50
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129. Rohan walked 40 metrestowards North, took aleft turn and walked 20 metres. He again
took aleft turn and walked 40 metres. The distance and the direction in which heisfrom
the starting point is

(1) 20 metres East (2) 20 metres North
(3) 20 metres West (4) 100 metres South

§rS edgd BIm 40 Dol IF), &SI 80A 20 Nl S, © SogE o)
AESIPE 80A 40 bl Sdarc. eS8 woeBOS Hocwh Hod Erdo, BFen

SEdm
(1) 20 Ebéacﬁom, 80 (2 20 Ebéacﬁom, &880
(3) 20 Ebéacﬁom, DES0Y (4) 100 boéodom, $8e00

130. Amitwaked 30 metrestowards East, took aright turn and walked 40 metres. Then hetook
aleft turn and walked 30 metres. The direction in which he is now with respect to the
starting point is

(1) North-East (2) East

(3) South-East (4) South

NS Erddy I 30 D) SED, 883 80A 40 ot SAT . & ST LB
800 30 sy S&wrk. w85 BN Do) Syry VIPL ) &F

(1) =S50 (2) &rd

(3) ehoso (4) &80

131. A, B, C, D, E, F, G and H are sitting around a round table in the same order, for group
discussion at equal distances. Their positions are clockwise. If G sitsin the North, then
D sitsinthe direction

(1) East (2) South-East

(3) South (4) South-West

08 $68 A, B, C,D,E F G Heo o8 ES0s® a8 Hoes 0Q Ly dHdrsos’
BrEI. 0 e Sy BIST a)on. Gedsd 3D Er8)08 wdydo D Srdy&) &%
(1) 8rody (2) ehoso

(3) &80 (4) 3%8&
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132. Inadinner party both fish and meat were served. Sometook only fish and some only meat.
There were some vegetarians who did not accept either. The rest accepted both fish and
meat. The correct diagramsthat reflectsthis situation is

w8 DodS” Bhew, $rod0 HGoT . Foddd Vhew SrE 8I, HHOFoEEH Srodo
SPER0 Botrdd. ©oBME & B0&oL @ohEBoWI TP T O Fol T, JAOSTE:
0G0 Botrdd. € HOYA HADoRN0W J8GS VGE>Ho

(1) %> (2)

3) @ 4 O
©

133. Someof thecricket playersaretennisplayers, sometennisplayersare hockey playersand
no cricket player isahockey player.
Thediagramsthat correctly represent the above statementsis

S0l B8 sy BYD wLmey, Fodd BYD wmre) P8 v, o §8E

sLMEr T8 el 5.
D RIS $rdod H8G0S Do
i T aD

o (LD 2

134. Thenumber that isin al the geometrical figuresis

©Q) g8 VeSS &) dopg
(1) 4

(2) 5
(3 8
4) 3
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135. Inthe set of real numbersthe equation 2x + 3y = 5 has

(1) nosolution (2) only onesolution

(3) infinite number of solutions (4) finite number of solutions
TRH DoPrgdABS® Da8dwo 2X + 3y = 5 5%

(D) &8 8o (2) 238 28 &S wod

(3) o8 dogrgs FESwoTy00 (4) 588 Dogrgs FESeoaon

136. The number with the second, the fifth and the eighth digits in that order of the number
31549786, is a perfect square of atwo-digit number x. The unitsdigit of xis
31549786 ° To&N, &8N, HANES woses’ 336933 dopg 2§ Bodosw dopg X &
3¢S0, & dopg X &% 2088 @5(‘60@&) ©08
D 1 (2) 6 3 4 (4 2

137. Inarow of boys, K isfifth fromtheleft and R issixth from theright. If they exchangetheir
positions, K becomes the thirteen from the left. Then the position of R from theright is
(1) Seventh (2) Eleventh
(3) Fourteenth (4) Eighteenth
erend SEVS" AENIY Do pdSF;d K, 83 Dod wddard R o8 Foren
57 B0508 K o 658000 HESrEHe wond 083 Hod Riso
(1) 256 | (2) HEFESE |
(3) Baenrss (4) $3IDSS6

138. If Rohan ranks seventh from the top and twenty-sixth from the bottom in aclass, then the
number of studentsin the classis
w8 SEKBS’ Bra T7go%y B 00D JEDB, Bod 0D AT WEHE wod ¥ SEHKBS

3)6?5689 éospg

(1) 31 (2) 32 (3) 33 (4) 34
139. If L standsfor +, M standsfor —, N standsfor x, P standsfor +, then

[(14N10)L(42P2)]M8 =

L o3 +, Medd -, Neldd xJ, Po3d +J drd, odyd

[(14N10)L(42P2)]M8 =

(1) 153 (2) 216 (3) 248 (4) 251

140. If 20—10 means 200, 8 =~ 4 means 12, 6 x 2 means4,
then [ (100 — 10) x (1000 + 1000)] + (100 x 10) =
20 — 10 @08 200 @, 8 + 4 @08 12 @, 6 X 2 ©o& 4 @géooooé ST
[(100—10) x (1000 + 1000)] + (100 x 10) =
(1) 20 (2) 1090 (3) 1900 4 O
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141. Square: Cube: : Area:
(1) Sde (2) Diagona
(3) Volume (4) Perimeter
FBEER0 1 Podo ¢ 1 IFTOg0
(1) eheo (2) g0
(3) HoSB8Lre00 (4) HopFeod

142. There are some benches in a classroom. If four students sit on each bench, then three
benches are left unoccupied. However, if three students sit on each bench, three students
areleft standing. The number of studentsintheclassis

w8 88 KOS" FJ) ageoaon. wf)E) P S Erd)os Sk wee P
GO0, w88 WY SN Erd)oB Sk Juadlod SFod. @ SEK8S
&)EFSCS@JG éospg

(1) 36 (2) 48

(3) 56 (4) 64

143. Inan examination, astudent scores4 marksfor every correct answer and loses 1 mark for
every wrong answer. If the student attempts all 60 questions and scores 130 marks, the
number of questions correctly answered is

a8 HOEST Dargd HODoS waren oy 4 SrEpen SF;ow, waren SHHowd 1 Srdy,
Firtgootrd. o8 dogd aWS 60 PHosr =arwddy 130 Srdped Fodd ©sld

VORI 2TeOYNS PH® dopg
(1) 35 (2) 38 (3) 40 (4) 42

144. KistwiceasoldasR. Threeyearsago, K wasthreetimesasold asR. The present age of K
(inyears) is
R80& 380y Sasdo Hoard K. Surd Sodd)ore 8o K $505:59) R S500:09)80 Sa5eidén.
K @08 $05089) (Sosd8)ome)
Q 7 (2) 8 3 12 (4) 6

145. Age of the father istwice that of the elder son. Ten years hence the age of the father will
be three times that of the younger son. If the difference of the ages of the two sonsis
15 years, the age (in years) of thefather is

oI HOW0 BB DG T8 03080 BEFoY). HB J0IF)Trw ST WS AK) §EB
50305980 Sorrcdd B wotnod. & /P Fdde Schdge Bdo 15 054088 e
Sol& A (éo:éé(\)c"é:)

(1) 50 (2) 55 (3) 60 (4 70
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146. Five hundred students appeared in an examination comprising English, Hindi and
Mathematics. Thediagram givesthe number of candidateswho failed in different subjects.
The percentage of candidateswho failed in at least two subjectsis
0%, 08, K880 Er&S a8 HOEE nhdode od Qrrgden SPedddrgd. §od
DB0S® IVE HFRoS® S 770 Dopgen [amyd. Ed0 Tokd é@ﬁ)@@é‘ EMS 8 TS0

English A Hindi
eoffo ‘ 08
Mathematics
Kedeso
(1) 0.078 (2) 1.8 (3) 6.8 (4) 7.8

147. Givena=1.10101, b=1.01010, c=1.110110 and d = 1.001001. The ascending order of
these numbersis
a=1.10101, b = 1.01010, ¢ = 1.110110, d = 1.001001 &d xw\&. € Sopge &

o0
(1) dcab (2) d,b,ac
(3) c,abd (4 b,acd

148. Atthe end of ameeting all the ten people present shake hands with each other once. The
number of handshakesaltogether is
08 BIFITS0E80 TS Fogo HBD00d 28OS wED w.E) 0 Edireso B, ngo
oo éogp§

(1) 20 (2) 45 (3) 55 (4) 90

149. Inagroup of cows and hensif the number of legs are 14 more than twice the number of
heads.Then the number of cowsis
sHeo, FY) &) a8 HoYS® ¢ Jopg -8 Svo Jopg THoY go8 14 Q8 S
©08 I o dopg
(1) 5 2 7 (3) 10 4 12

150. If 13 timesanumber added to itself gives 112, then the number is
w8 Dopgd o 13 &) §998 112 5908 & dowg
(1) 8 2 7 3 9 4 1
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Q 151-160: Directions

Study thefollowing information carefully, to answer these questions

Spectra Ltd Co. wants to recruit computer operators for its branch offices in various places.

Following criteriaare laid down for selections:

(A) Beagraduatewith at |east 60% marks

(B) Have passed aPG degree/diplomain computer applicationswith at | east 65% marks

(C) Havecleared the computer skill test with at least 55% marks

(D) Benot lessthan 24 years and not more than 30 years of age as on 01.09.2017

However, if acandidate satisfiesall these conditions EXCEPT

(i) at(B) above, but has secured at |east 70% marks in computer skill test, the caseisto be
referred to the GM-Admin of the company

(i) at (D) above, but hasaworking experienceof at least two yearsin Information Technology,
the caseisto bereferred to the GM-Personnel of the company.

In each of the questionsfrom 151-160, the details of one candidate are given asregards his/her

candidature. You have to read the information provided and decide his’her status based on the

conditions given above and theinformation provided. You are not to assume anything other than

the information provided in each of thefollowing questions. All these casesare givento you as

on 01.09.2017.

Givetheanswer

() if the candidateisto be selected

(1) if the candidateisto bereferred to the GM-Administration

(1) if the candidate isto be referred to the GM-Personnel

(IV) if thedataprovided areinadequateto make adecision

(V) if thecandidate is not to be selected

§od JJrworQ) g SOJ 151 Soo& 160 @HHose sarnd sy

RYE OWBE 50D VG (FoeS, &) S0 FogoArd” Soirgd ety Josrsisred

BASroHEHs. VPO J0DEH §Q) Ldden DPod. ©

(A) 8d%0 60% Srdn s HQicheoon Gomd

(B) 80 65% sy o8 Sodrgiadh oRsiHs® SIH/GPSr §08 Gomd

(C) 8130 55% Srdy o8’ Soirgtnl gy H8§ <R Gowmd

(D) 01.09.2017 57838 24 Sosdoreosh S5 5 so8vom, 30 Soddoress oW Hady
oz ®

©00B IV ©FFY P TBS” FAoBI $By MASS IoHhIre B0, T8 J0RER Sobd

ég@@ wI00Dowd.

(i) (B) dcoskoo Bsoam, Sodrgtad oy HOES” EAd0 70% Srd e R, & @58
g0 B0E), 83EEDIRb - HoToIL Hord.

(i) (D) Qo0 Bsoam, addds Bsneis® A0 ToiY) vdeilo ol & ©aigdd S0l
Roog), 838S BJb-veohs Hord.
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@0 151-160 ©¢°® 2.8 @25§g§ 0208003 JSTT w0 QIREIT0N. & J8r B0’ e @eﬁgg
Q81 gowowHed Gotnod. AP dsrardo Sy S0 WQE0 EarotiS ERE ). &8
ddrardo wosr 01.09.2017 85 236 Kodowrd.

Qo 2T 808 Ao HBowed.

(1) ©5583 Qows RS

(I1) 2580 288S JJaxb - HBFOSH HoFreod

(1) 25582 2885 Ja:b - Deyoh8 Horwod

(IV) 28 dgasoo Baerds derodo SOFEXS

V) @2;552&) D0NE WONEDS

151. Manish has passed B.Sc (Botany) with 58% marks and has done a PG Diplomain computer
applications. Hisdate of birthis 14" August 1994. He has cleared the computer skill test
with 58% marks.

58% S 08 B.SC (98 #30) ﬁ@;d&m@é ORI Soyrgeab @?gé?ﬁsejﬁ AT Fomrdd.
@3 YBIBE 14 esifsy 1994 o0&k Soyrgeod Sods 508 58% Srd 08 G aEEAsTyk.
Q) 1 2 n (3) 4 Vv

152. Amit Sharma passed BCA examination in 2012 of the age of 22 years with 80% marks.
After working for two years sheenrolled for PG in Computer A pplications. She has secured
55% marksin Computer Skill Test.
22 Jo3&ore H00/YS) ©N&FE) 80% Srdy o8 2012 &° BCA Irgdongod. o
Bo5B)Te & gTEoBL0 Sorgal BRTANS® W SR BREH. Sodrgad FSogs
H0ES® 55% Srdnen rHodod. .
L 1 2 I (3) 4 v

153. Rajat Batrahaspassed BCA aswell asM CA with 73% marks. He has cleared the Computer
Skill Test with 79% marks. His date of birth is 5! August 1986.
S8 erie> BCA, MCA e 3080830 73% S0, 08" argdasrge. $oirgeal ardogs H0EeS®
79% Srdy o0 o, w8 HBIBE 5 widy 1986. |
(1) | ) 1l (3) V 4) v

154. Praveen Kumar haspassed BA with 68% marksand PG Diplomain Computer Applications
with 70% marks. He has secured 70% marks in Computer Skill Test. His date of birth is
08.02.1992.

68% 508 BA gtond $I6 H5r6, foirgis oNASS' PG agsed 70%
SrE 08" GERERTyE. Sorgtad gy H08S° 70% Srdy e FHoT k. W&
&S 36 08.02.1992. |

QL 1 2 3 vV 4 VvV
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155. Sukumar passed PGDCA in 2012 at the age of 28 yearswith 66% marks. After working for
threeyearsin Information Technology he enrolled for PG degreein computer applications
last year. He has secured 85% marksin hisgraduation aswell asin Computer Skill Test.
85 285 20585308 2012 &° 208056 66% Srdy o8 PGDCA argdasrgidy. Sk
Dodgoro w&grdoddo ady0iie Benedd® §odtl dosdo wss PGDCA § 8
33065 BRETYH. ©EK0 S HLHH|S HEES S, Soirgeab gy HOS S 85% Sty e
Fowe .

@ n 2 1 (3 I 4 VvV

156. Prakash has obtained engineering degreein Computer Science with 66% marksand MCA
with 61% marks. He has secured 82% marks in Computer Skill Test. He completes
26 years of age by May 2017.
@5 orgeol RN R0RJVOA & 66% SrdnesSr, MCA J 61% Srdy o'
FgHErgdd. Sorgtad ardods HOFST 82% Srdyen FHowrd. w8 S 2017 Ser
26 Jodore H$A0B0 Y Dy
Q 1 2 (3) I 4 WV

157. Suji hasdone B.Sc (Physics) and PG Diplomain Computer Applicationswith 69% marks
and 56% marksrespectively. She has secured 76% marksin Computer Skill Test. Her date
of birth is 10.03.1993
8B 69%, 56% Sy o8 o B.SC(F8E 30), Soirgiad @n8isS® PG &apdren
FoB08. oirgad gy HOES® 76% Srdy o0 EoN0s. e HES 88 10.03.1993.
Q 1 2 I (3) Ml 4 vV

158. MonicaSharmahas obtai ned PG diplomain Computer Applicationsfrom areputed institute.
She hascleared the Computer Skill Test with 56% marks. Shewill be completing 27 years
of agein July 2017.
5T 8y w8 DY Do Kood Sodrgtod ®PBASS” PG &Pl Fobod. Sorgad
TSogs HOEST 56% S en FoDod. w8 2017 &° e 27 Sosdoren rg Bdos.
L 1 2 m 3 | 4 vV

159. Amar isascience graduate with 61% marks. Hehasdone M CA with 65% marksand 5 years
of experienceintheareaof I T. He has secured 60% marksin Computer Skill Test. Hisdate
of birth is 01.01.1987
%58 61% S e0 FodS Japdey HYGd. w8l 65% Srdy 08 MCA B, IT
SoffoeS’ 5 Joddore edzido &od. oJrgtrd rdogs H08S* 60% Sordp e o,
08 HBS 86 01.01.1987
L 1 2 (3) Ml 4 vV
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160. Fatimahas passed B.Sc (Honours) and M CA with 73% and 78% marks respectively. She
has cleared the Computer Skill Test with 79% marks. Her date of birthis 16.06.1991

83 B.Sc (Honours), MCA o $8dm 73%, 78% S o8 drgdongod. oirged

TS0gs H0ES® T9% Srdy o0 FHodod. e HBS88 16.06.1991
O 1 2 (3 I 4 vV

Q. 161 to 170: Directions

Study thefollowing information carefully and answer the questions given below.
Following are the conditions for admission to an engineering college. A student should
() beof minimum 18 years of ageason 1.7.2016.

(i) havesecured at least 50% marksin standard XI11.

(iii) havesecured at least 60% marksin entrance exam.

(iv) beready to pay Rs. 20,000/- at the time of admission.

A student who fulfilsall the conditions EXCEPT:

(@ at(ii) above, but has secured 80% marksin entrace exam, caseto bereferred to President,
Admission.

(b) at(iv) above, but can pay at |east Rs.10,000/- at the time of admission, caseto bereferred
to Dean of the college.

Based on the above conditions and information provided in each of the question below, decide
the course of action in each case. No further information is available. You are not to assume
anything. Thesecasesaregiventoyouasan 1.12.2016

Mark your answer as

(1) if thestudent isto be admitted

(1) if the caseisto be referred to President, Admissions

(111) if the caseisto bereferred to Dean of the college

(IV) if thedataare not adequate to make decision

(V) if thestudent isnot to be admitted

808 I3rmorQ) e S8, PHoo 161 - 170 0% 25700500,
w8 R08A0OA §77e PITIS 808 oDIFLLOTd. o TP VoI
(i) 1.7.2016 5738 8d%0 18 Jodehorenowmd. |

(i) Xl g858e° 8Jd0 50% Sy o Fod womd.

(iii) 3¢ 268es° 8A%0 60% Srdoyen Fowd.

(iv) ©3F d%ocs0s® &. 20,000/- BYoBoks dgorm wowmd.
©00B J ITgY @onI FoBI By MDAOSIY) SHRH8R, T8 WITI8 8od HEAJ

WI00DOTO.
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@ (i) Qoo oy, PREOEST B0% Srdy e FodB & ITEHI PRTY ©RGRIE Hord.

(b) (iv) Qoo Boar), b0 . 10,000/- HIF $500500&S" BYoWHYB & &g EerTe
&8 Hord.

28 DS dohEres, HEde errdom 8o8IYS HHOS' Ighe BITO Wb Agonowed.

00 JSrardo ¢irowsordy. 83 ¥y 1.12.2016 57838 ad)d dsrardo.

D B3 Iren 808 JFom K8owed.

() 2gl B3738 @38,

(1) dgg BITQ) PBITe wEgEIS Do

() dzgs ©ITR) Eorze &38 Hodd

(IV) DE5rE Birardo SOFEHD

(V) dmgg ©37Q) dom8d

161. Shekhar has secured 58% and 85% in X|| standard and in the entrance test respectively. He
was born on 111" January 1998. He can pay Rs. 20,000/- at the time of admission,

3968 Xl $648S°, $B508° S68m 58%, 85% S eo Smon. wEs 11 ad50
19985 Hipdo. HIF $%a008° &. 20,000/~ BOowHw.

1) | 2 1 (3) (4) V

162. Sheela has secured 75% and 80% marks in the X1I standard and in the entrance test
respectively. She can pay Rs.10,000/- at the time of admission and was born on 151" June
1998.

Xl 8868, H3F H68&° S8 75%, 80% S78) o0 FoBod awr. 8 HId Hoohos®
&>. 10,000/- Voo, 15 2~ 1998 S HGos.

1) | @ | (3 4 N

163. Ashok was born on 17t January 1998. He has secured 65% and 75% in X1 and in the
entrance test respectively. He can pay Rs.15,000/- at the time of admission.

17 28558 1998 § @58 adpowrd. s Xl 85188, 37 H85S° 385 65%, 75%
SrE 0 o . ©3F DB00%008° eslo K. 15,000/- Vo k.
@ 1 2 (3 Ml 4 Vv

164. Arunacan pay Rs. 20,000/- at the time of admission and has secured 60% and 70% in
graduation and in the entrance test respectively. Shewas born on 51 April 1997.

whm E3F ddocos® K. 20,000/- BOowWKOG, BB HLQFE, HIF DS’ S8/
60%, 70% Sréne0 >Qoos. w0 5 @S 1997 8 HEob.
(1 (2) (3) V 4 NV
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165. Ritawas born on 12t June 1996. She can pay Rs. 20,000/- at the time of admission. She
has secured 45% and 85% marksin X1 and in the entrance test respectively.

8¢ 12 22~ 1996 S HGPod. ©IF HHoooS® K. 20,000/- BowKe k. Xl 858, 3%
HOES' 581 45%, 85% Srdy 0 FHodod.
@ Vv 2 1 (3 4 Vv

166. Sunil has secured 55% and 75% in XII standard and in the entrance test respectively. He
was born on 10" November 1998. He can pay Rs. 20,000/- at the time of admission.

5008 Xl 8618, $3F H68S° S&3m 55%, 5% Srdoe0 G0, w& 10 $$006
19983 Hepdo. HIF SB000sS® &. 20,000~ BYowHwm.
@ 2 3) NV @) Vv

167. Prabhat has secured 80% and 60% in the entrance test and X1 standard respectively. He
can pay Rs. 20,000/- at the time of admission. He was the oldest in hisclass.

©erS ©3F 568, X1 S658 $68° 585 80%, 60% 56,00 Fomrd. HIF DHa00S”
8. 20,000/- BosHe®. WS SEKBS® ©FDE H%d, .
(1 Vv 2 | (3) 1 4 N

168. Akhil wasborn on 9th July 1997. He can pay Rs. 20,000/- at the time of admission. He has
secured 60% and 80% in X11 and in the entrance test respectively.

©DSE Yerd 1997 % Hepds. HHF $oa00® 8. 20,000/ BYossKwk:. w&so XI S618,
3 HOES® S5dT 60%, 80% Soriisn, e Forrd:.
1 | 2 V (3) NV @

169. Arun has secured 55% and 65% in X1I standard and in the entrance test respectively. He
was born on 19" May 1997. He can pay Rs. 20,000/- at the time of admission.

w865 XI| S668, HHF HOES° S63m 55%, 65% Srdaye0 Fomrds. w&so 19 F 19973
DT, HHF HPoa00S® . 20,000/~ BYosHwE.

(1) | (2) V (3) 4 NV

170. Kamala has secured 50% and 55% in XII standard and in the entrance test respectively.
Shewas 16 years 5 months old as on 1 May 2014. She can pay Rs. 20,000/- at the time
of admission.

XIl 8868, ©93% 568’ 8o 50%, 55% Sy w0 Fodos. 130 2014 86 38 esR0dd
16 doS&)oreo 5 Jvo ScdYod. EHE doohos® &. 20,000/~ BQowKed:.

@ 2 (3) | (4) V
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Q. 171-176: Directions

In each question given below a statement is followed by three courses of action numbered
[, 1l'and I11. A course of actionisastep or administrative decision to be taken for improvement,
follow-upfor further actionin regard to the problems, policy etc. On the assumption that everything
inthe statement to betrue, you haveto decidewhich of thethree given courses of actionlogically
follow for pursuing.

@Heo 171-176 SresSeo:

58 BHSEr a8 BISSHr @D Bow |, 11, 1l £H5ods Swrd ogEdnos QTD.
5orgsden WO a8 D0y FESK, QYR HoeBd wdieom 0T HOFOT AYAS0 o
5. WIEH0S” 2Y)S dSrardooe JudFolbr aQ)S Hrd sorgEdned® & f) o
B wHdBoTS® W& AFowowd.

171. Statement : While hundreds of childless couples are waiting to have achild for adoption,
children are sold by some agenciesto foreigners for huge sums of money. The agencies
source children from poor sections of society illegally.

Courses of actions:

(1) A committee should be constituted to look into this matter.

(1) Alaw should be enacted to make it mandatory for all nursing homesand hospitalsto
record births and deaths and to admit abandoned children in specified homes.

(111)  Adoption by foreigners should be compl etely banned.

(1) onlylandll (2) onlyllandlll

(3) onlylandlll (4) I,landlll

BIBVH0 : HoerHoBA WIE Jokw H008 Boden VYOK SEE BT 0LIPIE I

Sr008, Q) Doger ©8E Ingo 8300 HYO D IBINVH BBIEIN0R. $0HOS™

DT S $00D & Hogew Dyl Fhiedr BETow.

sPorguideaen

(1) & DRErQ) HIoBE A8 28 Hodrd) Aodomd.

(1) @) $0)oAfFFoues Sy, sdodghos Sr adsd, Soderols pd)For S3och Balres
28 SEPQBIr, ¢ IHYPO AP o dXTot HoT oo d.

(1) JBrBHOT 88 Jrom Jwdomd

(1) 1,1 83
2) 1,11 S@dd
(3) 1,1l S0

4 1,1,
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172. Although strict vigilance by the police has brought down therate of night crimes, daylight
robberiesand chain-snatching etc have only increased.

Courses of action:

()  Thepoliceshould be asked to stop its vigilance programme during nights.

(1IN Thepoliceshould begiven powerstokill criminalsinvolvedin daylight robberiesand
chain-snatching.

(111) The police should be directed to reorient its strategy so that daylight crimes are not

ignored.
(1) Tlandll (2) onlylll
(3) onlyl (4) landlll

$E88T 0 PN A IO TBFT e SAOBEOAT, HEgdtes E*hdeo, Feods FordT e
IATP0 QB ©HET)00

() oS s886re o JenPdeo BASrd.

(1) H&dKe0 Shéeo, Feod Foldarer Do SEOK Wo» WEF o SEEET IO,
(1) HHBT¢ Soren & 0§owE0T GoBLN SEEST L e Sud Bairod wsidzowrd.
() LIl (2) 1l S0

(3) | S (4) 11,1

173. Thebank employeeshave decided to goonastrikeagain.
(1)  Theemployeesdemands should be accepted
(I  Theemployeesgoing on strike should be sacked
(111)  The demands made by the empl oyees should be sympathetically considered.
(1) tlorll (2) lorlll
(3) IHorlll (4) Onlylll

wrgodd &' ghen H0§) IR0y BoSrod dgowow .

(1) &dgheo d5rogs ©@ohgdowrd

(1) 3 3§ edghod Sohowd

() &&ghe d3rogd FSsdgyrdtson HoKBowd
Q 18zl (2) 138l
3 szl (4) IS0
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174. Candidateswho appeared for an examination are agitating that several questionsare out of
gyllabus.

() A committee may be constituted to |ook into the matter.
(I  Theexamination may be cancelled.
(1)  Reexamination may be conducted if the committee recommends so.

1 1 (2) |
(3) landll (4) landlll

PoaRS” B Tror PHeo HOES® S ITgHRE WoF'ES BhyI.
(1) & a5, wEgohso BoDTAE 28 EMLA JAA0BE0

(1) 2685 sy Bosco

(1) 820 Jordy 80N HOE Jcerotdo

Q) | (2 1

(3) 10805 Il (4) %0805 1l

175. Many students of the school fell ill for thefourth timein arow inthelast six months after
consuming food prepared by the school canteen.

(1) School management should immediately terminate the contract of the canteen and
ask for compensation.

(I1) ~ The school management should advise all the students not to eat food articlesfrom

the canteen.
(111 The owner of the canteen should immediately be arrested for negligence.
(1) onlyll (2) onlylll
(3) onlylandll (4) onlyllandlll

FETO 508G 8o 8 K8 BHIVY TO0S" SHIMT THFR & FéT
&)wgdc.g@o @és“gé& %28 @aSrgd.

(I) Jdre cSrasrdgo & 5°go83a o,y S B, SQ[HoTo §od

(I1) 5°50BRS™ BiFs Srgen BISEI FETo ITglheosds Hobtamgd

(1) 575088 FBradrId @8 G s*Eewom Wiy BASrd

D) 1 S8R0 (2) NS>8

3 L3> (4) 1,1 8830
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176. The number of dropouts from the municipal schools has significantly increased after the
withdrawal of mid-day meal scheme.

()  TheGovernment should reconsider itsdecision of withdrawal of mid-day meal scheme.
(1 The Governmentt should close down some of the municipal schools.

(111 The Government should carry out adetailed study to find out the reasons for school
dropouts.

L n (2) onlyl

(3) onlylandlll (4) onlyllandlll

HoGrgm el HE5Q) IEMoES) S0°tE S0AVIS FETeS; W SRS 70
dopg Keadoom wdAok.

(1) Sogrgem) = HEE 80D Hehdo HSTSTES Basrd

(1) &Q) $0DS FéTood Hehdo HFDIrd

() dergdhed HB0PIrI00erA8 o sderedh KHehdto H08D0T O

D) 1 Soog3o (2) | S

(3 1,1 Soog830 (4) 11,11 Sore30

Q. 177 - 180 Directions:
In each of the following questions a statement is given followed by two courses of action.

A, B courseof actionistaken for improvement. Read the statement carefully and give answer as
below:

() if only course of action A follows

(I if only course of action B follows

(1) if either course of action A or B follows
(IV) if both courses of action A and B follow
(V) if neither course of action A nor B follows

@Heo 177-180 dresSen:

B8 PHS'I> 0.8 PISI5r T Jodd A, B o $8008 Tot smorglidmedo H8&F&owrd.
S0 Tegd VEMO. A PREET HISTR) SO a0 §ob Do 1.

(1) sogEde ASr@gd oddbomrood

(II) sorgsdes B Srg@dh ofoddomrood

() sorgsser ABa B ododbomreod

(IV) scorgsdemen, A, B © Sodr oddomreod

(V) sorgsder As, B 5 @od80w8rddosod
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177. Statement: Increasing levelsof air pollutioniscreating health hazardsfor peoplelivingin
the cities.

Courses of action:
(A) All industries should be shifted to the outskirts of the cities.

(B) Transport authorities should take stepsfor converting al public transport vehiclesto
runon CNG

RS ININIR

TPO50 FPeRlg DENEL 5o SKTYT ASVNK) PeoBd 68y ddodgen SBEyETT)0%0.
sPorguiden:

(A) @) goyrorod SHE 3gS8 E5d0wrd

(B) oQ) darer oo CNG & $&88en e ©fseden Hdgen BHerd
1 1 (2 |
(3 (4) v

178. Statement : Despite good economic progress of the country, significant number of
undernourished children has been observed in the rural parts of the country.

Courses of action:

(A) Govt should increase Wealth Tax/Income Tax and use that money for upliftment of
the deprived class.

(B) Govt should introduce schemeslikefree mealsin primary schoolsand make primary
education compulsory.

DPES0:

3d0 H00 ©PE HEHS FHOAT, [ (Foe . VOB Fl Srdor Keadok

Dopges” byenodto {0 .

seorgedden

(A) ©Be0&g0 3By / emraioddy) Dod, Sagor $T) dagdo wnmdd 518 Bao
&i:(ééfeo& GIRrA0T O

(B) ©2b&t0 rgns rdTrod 48 Fad HE8o WIFngto, (EE IS oo
B o8 HEsol BHET IO

@ Vv 2 NV

3 4 1
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179. Statement: A university librarian reported increased cases of theft of booksfromthelibrary.
Courses of action:
(A) Stricter security arrangementsshould be put in placein order to prevent suchincidents.
(B) All thestudentsin the university should be madeto pay ahefty finein order to replace
the lost books.

RS ININIR
08 DTN Homredirds d KomrewdHod®d PIste '8 DBA0E A3boT k.
SpepignTel=0lok

(A) werol dodotoden adKEom 008 PYNE D TS BHETd
(B) Fond DIz FI0S® §E 8 Fodirdd @oddH dmrglhe ok &S
2BIrI RN Sdren VASTO

Q) 2 1 (3) | (4) V

180. Statement : At least five students were killed due to a stampede in one city school asthe
studentstried to leave the school building, fearing short circuit.
Courses of action:
(A) Theprincipa of the school should be arrested immediately.
(B) The Govt shouldimmediately order closure of the school permanently.

RS ININIR

28 36 rETOS" g A8 Fohdd 2OAS (F'H I LS’ EAb0 wdihds dargdhen
30)8 Fomd.

sPorgEen o

(A) & TéTo PYPSH J0LI WO B

(B) & FéTodH Hgonr SordIcirod pebdto J0L3 sB30w°d

1) | @ | (3 4 N

181. Two positionsof diceare shown below. The number of pointsthat appear ontheface opposite
to the face containing 5 pointsis

Bocd TN 808 JFom amoN. ROWIS® 5 DothPen Ko S0grds ddm wd)
S0po0 Ko DochIe dopg

(1 3 (2 1 (3 2 4 4
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182. P has arrived at 3:30 pm, 40 minutes later than Q. Q was present 15 minutes before the
scheduled time of the meeting. The meeting was scheduled at
(1) 2:55pm (2) 3:00 pm
(3) 3:05pm (4) 3:10pm
Q8% 40 doaren wodgor &r. 3.30 d.o& PIH)&. 88 dSasrd 08 15 dre
3008 Q BHEFIK. ©HB J3e3d doaso
(1) &. 255 (2) &. 3.00
(3 &. 305 (4 &. 310

183. If xyzrepresentsanumber written in the decimal system, then the suitable value of xinthe
equation 5x2+2x5 = 887 is

&7°0d5508° w8 Howmgd XyZ $r0d, Dabsdmo 5x2+2x5 = 887 &° H0FD X Jend
(1) 6 2 7 (3 8 4 9

184. Themirrorimageof TERMINATEs
TERMINATE R208), $&yee @000

(1) TIAMIMATI (2) ITANMEIT

(3) ITAUIMAIT (4) ETAMIMSET

185. The number of trianglesinthegivenfigureis
QYS HLoS" (@ehare Jopg

1 12 (2) 18 (3 22 (4) 26
186. Yard: Inch: : Quart:

(1) Gdlon (2) Ounce (3) Milk (4) Liquid

fezo @ ®orogo @ 1 5% ¢

(1) g (2) Ty (3) dreo (4) &S0

187. 11:123:: 23:
(1) 531 (2) 529 (3) 527 (4) 523
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188. A, B, C, D and E aresitting on abench. A issitting next to B, Cissitting next to D, D isnot
sitting with Ewhoisontheleft end of the bench. Cison the second position from theright.
Aistotheright of B and E. A and C are sitting together. Then the persons on either side of
Aae

A,B,C,D,Eeo 2.8 29 8r8)a)t. BgS A, D98)S C8rso&, D, ES® 8§68,
E 2008 85 @0thd srdyamid. &35 Sod Bo& @@%‘606545 C; B, Eo 683
Acodm, A, Coo 80D Erdy)amd. odyd A8 2dd3Ye &d) Sg85e0

(1) B,D (20 B,C (3) ED (4 CE
189. Inthefigure below the number in the blank space IS
Bod Heroes* gm@{goo S*Q Dowg
5 4 7 8
6 9 5 1
3 7 2 ?
(1) 1 (2) 4 (3 3 (4) 6

190. Inthefigure below, the number that fitsat the symbol ‘7 is
808 HL0S® Ky ? $§ DBFRD dopg

18 24 18
12\\/30 16\/40 45\/27
6 8 ?
(1) 18 (2) 12 3) 9 (4) 6

191. Inthefigurebelow, the number that should be at the symbol ‘7 is
808 HL0&S*, K&y 7T HE GodSodS dowg

4 8 0
O O O
7 4 2
(1) 0 2) 2 (3) 1 (4) 12
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192. Inthefigure below, the number at thesymbol *? is

Bobd dLos®, K&y 7S¢ dowg
(2) 144

(1) 64
(3) 169 (4) 25

Ce

193. Inthefigure below, the number that fitsat ‘7 is
BoB He0&S’, K&y ? $¢ HOPGH Dowg

7 4 5

8 7 6

3 3 ?

29 19 31
1 3 2 5
3 4 (4) 6

194. Inthefigure below, the number that should be at the symbol ‘7 is
BoB HeL0&® A 1?7 HE odSodS dopg

4 5 6
2 3 7
1 8 3
21 98 ?
(1) 94 (2) 76
(3) 16 (4) 73
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195. Thenumber of trianglesinthe given figure below

& (808 HLOSQ @ehere Jowg

(1) 18 (2) 20
(3) 24 (4) 27

196. The correct choicefor ‘? infigureA from figure B.
D80 A ST K8y 1?7 8 Heo B & H03086

PNPIE Sk
(A) (B) (© (D) | I I v VvV

(1) | 2 I
(3) 1 (4) N

197. The correct choicefor ?in figure A from figure B.

S0 A ST K8y ? 8 Ho B ST H0RoSd

JARRVA IV AIAVAIARRVAIS

1 1 (2) |
(3 Mm (4) NV
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198. If thedigitsof the number 5726489 are arranged in ascending order, the number of digits
that remain at the same positionis

(1) none (2) one

(3) two (4) three

5726489 &°0 ©080& 68 TaEos’ oy o8 IS FITS &old wose dopg
(1) 8BH (2) =88

(3) Bodk (4) Lo

199. In the number 3276158, if the digits were arranged in ascending order, the digit in the
ten-thousandsplaceis

dopg 3276158 &5°Q wose 88 raEod’ ¢odsd I dopgd® KT @5(‘60&5‘@ ©08
1 1 (2 2
3 3 (4) 4

200. Thedigit that should come next inthe number sequenceis
987654321876543217654321

HogrgoEsoo 987654321876543217654321¢° ordeods $o708 ©os
(1) 9 (2) 8
@) 7 (4) 6
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